PART - | | T - | N
CHILD DEVELOPMENT AND PEDAGOGY / @i 11 @ FH1EfI¥1T
Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/iio~| ’ v options
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1. Jean Piaget believed that knowledge is :
(1)  a visible behavioural change that can be measured with reliability.
(2)  constructed by the child rather than being passed passix_zely from the environment.
(3) innate and given rather than acquired through interactions.
(4)  co-constructed in interactions with more knowledgeable others.
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Which of the following statements about adolescence is not correct ?

(1) Children across different cultures usher in and experience adolescence in a similar manner.
(2)  Adolescence is a social construction.

(3) Adolescence is generally considered to begin with puberty - the process that leads to sexual
maturity and the ability to reproduce.

(4) Adolescenceis developmental transition between childhood and adulthood entailing physical,
cognitive and psychosocial changes.
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3. Which of the following describes a mastery goal orientation ?
(1)  focus on avoiding failure or punishment for fear of humiliation, ‘
(2) focus on achieving a certain level of performance for competing with others.
(3) focus on improving ones’ skills and understanding of a task.
(4) focus on achieving a high grade for receiving external rewards.
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llowing best describes the role of the teacher in progressive educatiOT} ? in

r lets the children learn independently and does not interfere, in theif leal

cher is the primary source of knowledge and authority in the classroomn 6ol 4ing
Acher provides diverse mate'i':liaﬁ for children to experiment and provides sC

en required. '
is responsible for ensuting strict adherence to curriculum stan

! fins dards.
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bility to use symbols for symbols such as letting the letter X stand for
s during and enables the children to learn ___——

nservation and seriation
lgebra and calculus
onservation and seriation
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7.

Assertion (A) : . .
Students ar(e :nore likely to do welf}ng stay in school if they have emot1
school and believe that they matter===

Reason (R) : ;

Emotions play a significant role in Jearning.

Choose the correct option : E'z

1) Both (A) and (R) are false. = B .
B i ® LiRJ is the correct explanation of (A).

(2) Both (A) and (R) are true and:ilij ion of (A)
(3) Both (A) and (R) are true but(R):is not the correct explanation ot {4)-

(4) (A) is true but (R) is false. ~ £7% =
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Asking Critical questions such as “Howzmuch and in what ways are various gender represented in

textbooks and media” would encoyrage :
(1) Discouraging gender role flexibility ~ (2) Questioning gender stereotypes

(3) Strengthening gender constancy (4) Reinforcing gender identity
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In order to address the individual différences among learners, a teacher should :
(1) implement arigid and uniform-eurriculum for all learners

(2)  acknowledge differences as abnormal and kind of deficit

(3) be indifferent towards individyal differences

(4) consider differences ag ObViOESjéjature of human diversity
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(3) Objective (4) Summative
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lowi: g behaviours "I-Iloids head in an awkward position when reading; squinting

requ ently, redness/swelling of eyes; confusing letters. These can be symptoms
" r'm Y

o (2) Visual problems
(4) Autistic spectrum disorder
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hen a child enters middle childhood or adolescence.

planation of (A).
tiexplanation of (A).



13.

14.

Assertion (A) :
. bias.
Teachers should constantly reflect on their own stereotypes and bia

Reason (R) :

ﬂ

Culturally responsive teaching means th chers are reflective.

183 .

Choose the correct option :
(1) Both (A) and (R) are false.
(2)  Both (A) and (R) are true and (R) i5=thé correct explanation of (A).
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(3)  Both (A) and (R) are true but (R) 1m the correct explanation of (A).
(4)  (A)is true but (R) is false.
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According to Vygotsky, what is the role of the teacher in facilitating cognitive development ?
(I) To give only those tasks that the student can currently do mdependently

(2) To provide information and knowledge to the student.

(3) To guide and support the student’s learning through scaffolding.

(4) To allow the student to learn compieie}y independently.
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cher wants to enable meaningful learning by helping students make c:onr(xiec‘;tiozf:r’;1
1d be

real-world applications. Which of the following activities wou

1 strategy ?
esearch on a current issue in small groups and present their findings to the

orize terms and definitions.

blete worksheets with multiple choice questions.

the method of stimulus-response conditioning.
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ialization ’
18. Which of the following characterise the process of socia

19.

(@)  Itis a linear process. (b) Itisa complex p'rocess.. I
() Itis a multidimensional process. (d) It takes place uniquely in diferes )
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Assertion (A) :

In an inclusive classroom, adaptaﬁons should be made in learning goals, pedagogical strategies as
well as assessment.

Reason (R) :

The philosophy of inclusion advocates elimination of all individual differences through pedagogical
approaches and assessment.

Choose the correct option :

(1) Both (A) and (R) are false.

(2)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(3)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4)  (A) is true but (R) is false.
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23.

vible and has trouble paying Wteny,
M e Iping the !
lective strategy in helping ﬁStuer
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A teacher notices that one of her students is highly i1

during clags, Which of the following strategies would is 1"
stay focused ?

; : rainst the student.
(1) Calling the parents and taking strict disciplinary action agamst th
(2)  Giving the student repeated tasks to do during class.
(3) Strictly telling the student to increase their attention span. :
4) . Givi i -regulation and time-management. o
(4) . Giving a timer to student for self-regula G N .
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Assertion (A) :

Learning from real-life Problems and concrete experiences gives the children multiple pathways
for learning and retrieving information.

Reason (R) :

Development is relatively orderly and sequential.
Choose the correct option :

(1) Both (A) and (R) are false,
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false:
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ortfolios are an effective tool for formative assessment because :
students in the process of assessment.

Isights about the progress of individual students.

inly in the presentation of the final product.

igible evidence of student lgar;gi_ng.
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constructivist learning theory ?

that involves receiving and memorizing information.
d explicit guidance to students.

answers and feedback from teachers.

 active engagement with their environment.
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27.
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Sujata participates eagerly in the dance compet!

first prize of cash. Sujata is :
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1va

f
[ntrinsically """ j

(1) Failure-avoiding learner (2) _Orieﬂl"d [earner -
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28. Which of the following process is essential in MeARNE méa
environment and store it further in memory ? ) Decay 4) Forgetting
(1) Retrieval (2) Attention @ € - : A& o
et 8 i et eon 1 g e e A A B8 R ST I 335
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29. In which stage of Kohlberg’s moral development : gehildren’s reasoning revolve around ethics
law ? o
(1) Autonomous morality (2 Preséggvenﬁonal morality
(3) Conventional morality 4) Hef;egﬂgénomous morality
Freni 3 Afeich forehre @ forw st # w1 T B A & 5S-fd s 2
(1) T Afdhd (2 YeSERuRE A
(3) R Ao (@) fofem
30. bA;l:elemeritary school teacher can strongly influence students’ development of academic self-conceft
(1) Keeping very low expectations from special students
(2) Keeping very low expectations from all students
(3) Punishing autonomy and initiative in studenté:
(4) Rewarding autonomy and initiative in studénfe!
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IMPORTANT / .
to do questions 31 to 90 EITHER from Part - Il (Mathematics and Scien

tudies / Social Science). y m,m%ﬁ
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34. A sho f 28% on its marke( pri
o P kEeper Sel] 4 oo a discount O _ : g, N
Price of o al‘ﬁcles' eu; article fo, 7 324 after Y’.IY'.% a :i\l/ing 18% discount on its samg mark@ dr
then What v; ! + If he sells the article by g
Will be hjg Tolit percent
(1)

24 ® 10, (4) 23%
AL
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55, Concept Was labelleq o4 ‘Schema’ by e
(1) Van Hieleg () Vygotsky (3) Piaget (4) Bruner
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36. o

L F .
In triangle pQR “P=55° and QR=18 ¢ Inyghich of the following cases, APQR can}
obtuse scalene triangle ?

(1)  £R=35° anqg PR=18 cm (@ AR=25° and pQ=13 cm

() ZR=15and PR » 15 oy @) z?‘:es andPQ>18 ey
9 PQR 3, £P=55° 3R QR =18 omm ¥ | e il 3 @ ey APQR T stfirer 3 forgoa
EESET )

(1)  £R=35° 3 PR=18 cm @ R=25° 3 pg_ g i

(3  <£R=15° 3R PR > 18 cmm @) R=65aipgs g cm
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the following problem on percentage to solve,

. 00
ge of decrease if the population of a city decreased from 28,000 to 26,5

nd
nderstand the concept of percentage but is not able to understa

tity is to be found.
gestion correctly but has used wrong symbols in solution.
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39.

40.

41.

the value of y when Yok o

~2.4. Whatis 4) 2.1
X varies inversely as y. When x=3.5, then y~(§-}- |5 N ‘825 - - S
1) 2.8 2 1.4 qy-24 81 FAx=56% T, ;
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1) 28 @ 14 (3 1.5 ‘
%
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40 the two num 5
The product of two rational numbers is 3 If one of
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National Education Policy

used in classroom teaching, Whicp,

grated Pedagogy Neegs
integrated Pedagogy in Mmathematic

in the context of using 5

mathematjcg,
Choose the correct option, -
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[ of parallelogram ABCD such that ZCBD=12x, ZABD =7y, ZADB=6
the value of 2x+3y is :

Oo and

@) 20° @) 21° 4) 22°

o 2
CD 1 faani BD ¥8 W & fih ZCBD=12x, ZABD =7y, ZADB=60
+31 T T

@) 21° @4) 22°

1 dimension of assessment of mathematics learning ?



following question to her class.
lata ?

45. A middle school mathematics teachcr poses the .
he following ¢

;’Which type of graph would you usc to show
a) The heights of participants in an athletics mecl G at a stati
(¢ (& «l , s C C C t ki

(b) The number of passeggers boarding trains from 9-00 am to 0:00 pm at a station,
The intention of the teacher is to - ;
(1) Teach the use of histograms for data representah
(2) Help learners understand the difference between
(3) Introduce the concept of pie charts.
(4) Teach line graph through contextual situations. o

grap & ¥y @dl @ |

frest et w1 7w i e furferchn sTort el o TS

on. _ :
bar gl’dpll and line graph
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46. Teacher conducted an oral assessment in class and found that Ram can speak definition o

types of numbers - odd, even, prime and composite accurately, but not able to identify the nunt-

accurately when given a set of numbers. ‘
Which of the following is most appropriate for the above situation ?

(1) Ram has analytical ability.

(2) Ram has good memory but lacks practice.

(3) Ram has good memory but lacks concentration.

(4) Ram has good memory but lacks conceptual understanding.
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its
i ence of 1
surface of a right circular cylinder is 4400 cm? and the circumfer

lume (in m?) is 3@ )

0.0284 " (3) 0.0385 (4) 0.0285
. e &
i | S
o T @SR 4400 em? § 3R IEF U Y R 110 om ©
Ll 1y

(3) 0.0385 (4) 0.0285

. = n
' ntary angles is 20°. If the smaller of these angles is p, the

(3) 270° (4) 250°

4) 250°




{ p=x2-x—3, then what is g,
50. IfA=-2x2+12x, B=11-8x+3y2 Cx17 -7 ant
co-efficients of x2 and x in (A+B+C~“D)7

i ]
M 3 @0 (@ ' a1
AT A= —222+12x, B=11-8x+312 C=17— 412:%!:_ \
F R wA g T —
S @0 = @ -
(L)

K . S. WhiC]‘» (
51. A student listed the following propegﬁe;%Of Rational Number

(a) A rational number includes integers.

(b Z -8 2 »
) 0 ero) is not a rational number. wn",'f, ”,‘f‘3’1 l ) t")7 - ‘
(c)  All fractions are rational numbers. D 4 2 \ , / ,2\ i

Choose the correct option : @ ¢ 3 ’L\}
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52. In triangles ABC and DEF; Z/B=90°, BE=8 cm, ZA =4(°, DE=8 cm, ZF=40° and ZE=%
which of the following statements is frué ?

(1) AABC = AFED, by AAS (2) AABC = ADEF, by RHS

(3) AABC = AFED, by RHS (4) AABC = ADFE, by AAS |
fysit ABC 3R DEF #; ZB=90°, BC=8 cm, ZA =40°, DE=8 cm, ZF =4(° 3% ZE=90° ¢!
FUE § Y B9 FYT AT R ?

(1) AABC = AFED, AAS g1 (2) AABC = ADEF, RHS &Rl

(3) AABC = AFED, RHS gRl (4) AABC = ADFE, AAS g Bl
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(3) (b) and (c) (4) (a) and (c)

increasing order and multiplied
of the original first and third



fruits kept in a carton :
56. The following table shows the number of different frut
T f Pome-
fr}:lri)teso Mangoes | Apples | Oranges | Guavas gra.iates
Number| 44 56 42 30 38
i1l be the angle of the sector TePreg,
If a pie chart is constructed for the above data, what wj %
apples ? . 4) 96°
(1) 100.8° @) 79.2° @ 72 ) ’( )
1 Wt + forelt fesal 9 @ . fafre wehl =t wiemadl 1 <@ T
el &
M| W9 | WX | e | MR
BEDL
e | a4 56 42 30 38
A SR SHiFE! i Toh WIE = o1 el &, A 96 FRaae &1 H10 1 S S il Bl g9 )
(1) 100.8° 2) 79.2° @) 72° (4) 96°
57.  Abox opened at the top is made of wood of thickness 3 cm. Its external length, breadth and i
are respectively 1.48 m, 1.16 m and 83 cm (base =length X breadth). What will be the cs
painting its inner surface at ¥ 150 per m? ?
(1) ¥ 842.50 ) ¥ 838.20 (3) ¥ 839.10 (4) T 841.40
SR H Gl §A Th T 3 om A TS H G L TR I AR, ISE qu S 7
148 m, 1.16 m 31K 83 cm ¥ (SMUR =<1 x <iYew) | SWHT STl Waal W 2 150 Wy m2 A &t
U i AT T & 2
(1) T 842.50 (2) % 838.20 (3) % 839.10 (4) T 841.40
58. If the median of the data 30, 8, 7, 3, 17, 15, 21, 24, 29, 23 is x and the median of the data obtai®
by rzplacing 3 by 33 and 8 by 18 in the above data is Y, then what is the difference befW¢
yand x ?
(1) 4 2 1 3) 2 4) 3 .
A w2 30,8, 7, 3, 17,15, 21, 24, 29, 23 1 W x ¥ 3 W ofiehs) § 35 33 4 qun 89 ¢
uﬁwﬁamwmmmmmaﬁy% dl y 3R x 1 e | &
1) 4 2 1 @) 2 4) 3
@ B,
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tics teacher posed the following problem to her students :

m
three persons started together. Their steps measure 70 cm, 85 cm and 95 :ne
the minimum distance each should walk so that all can cover the 52

Torenféiai & Tmer frefafas wo wan

H1e e URY H &1 IF weHi HY dar HA: 701‘1.11’%
fererft T =t o & =t o -t wewi B F L HF 7

i gl F F o trergaes it 2

(LTRs) are most appropriate for visually

(d) Spreadsheet



: ) orrect/most appropriate optip,
selecting the € ;
3 /ﬁﬁaﬂzﬁ'ﬂﬁ’wq g/

Direction : Answer the following questions
l 23 % ford &

fdor:  frefarad I & I
(s) are caused by ba

61. Which of the following plant disease
. ong P () Citrus wanker  (©)
Only (b)

ctcria 2
Y(‘“OVV veln ﬂlOSdiC of }\‘h”\}
\

4) (b) and (¢)

(a) Rust of wheat
(1) Only () 2 @and® ) s
ﬁwrar@aﬁaaawwwmfa/awmmm@ﬁ - A
(a) % # e () () fig® ) ; (b)am(
(1) F () o @iwp O e (b) () )
. Ident : :

g (a) nufz f'::?i :Sofal:‘:bzteifzizl:(zat has repeatedly peen found tO be true OVer the time,
(b): A law is a theory that has repeatedly been found to be trué over the time.
(1) Neither () nor (b) (2) Only (a) (3) (a) and (b) (4)  Only
Tt e/ Tl T IS

(a) = W@m@m%mmﬁaﬁaﬂaﬁww%‘l
(b) : W@mﬁ%ﬁﬁmﬁnﬁwwww%l
(1) (a) 3R () T off 7& 2 %9 @) @) (a) (D) @) ¥

set that correctly matches the plants in column A with the mode of asexual reprodu

63. Find the
which they exhibit :
Column A Column B
(@) Rose (i) Budding
(b) Yeast (i) Spore formation
(c) Ferns (i) Fragmentation

(iv) Pollination

(v) Vegetative propagation

(a)-(v), (b)-(i), (c)~(3), (d)-(iiD)
(2)-(v), (b)-(ii), (©)-(i), (d)-()

(d) Spirogyra

(1) (a)-Gv), ()G, (-6 ([@)-E) @

@)  (@)-v), ®)-) ©-() (d)-(ii) 4)
mwﬁ@quAﬁwﬁmmmﬁﬁh mﬁﬁmwﬁﬁﬁxéﬁmv@ﬁ
i FE :

Hie™ A Hic B
(a) T (i) Hqpe

b) 9= (TR) i) sftome T

(©) WA (o) (i) G

(d) TR (iv) T

1) (a)( R
a)-(iv), (b)-(iii), (c)-(i), (d)-(ii) 2) (a)

®B)  (a)-(iv), (b)-(i), (c)-(v), (d)-(iii) §4; 8

P-IL | GAmaI m o 24

(v),
(v),

)-(1), (c)-(ii), (d)-(iid)
)-(

(®
(b)-(ii), ()-~(id), (d)-()



v - 4 e . eaSeSl
vould be a most suitable strategy to introduce the topic ‘deficiency dis :

mmon human diseases.



67. Which of the following is the most suitable reason pehind Newtons theory of gravigy, |
regarded as an excellent theory ?
(1) It has been developed over a long perlod of nme
(2) It explains larger number of observations by T makmb s
(3) It has been arrived at after thorough experlmentahoﬂ
(4) It has been formulated using the precise languﬂge of matht <!
w%W%mﬁWWWW%@WH q FH 7’TWD\
8?2 '
(1) T i ey  faefad fom T € o0
(2) qﬁmwwa@ﬁmﬁﬁmaﬁmm%
3) Wmﬁméﬁwﬁ@w%
4) s@qﬁ@nﬁmwmmmwﬁww%
68. Read the following text :
When a negatively charged rod is brought near an ungharged electroscope,
(a) the electroscope leaves move further apart aﬂ Ny
(b) both the electroscope Jeaves acquire similar charge
(c) the negative charges pass on to the electrosccgg’“fausmg its leaves to move furtherap:
Of the above three statements : B
(1) (), (b) and (c) are inferences g )
(2) (a)isan observation while (b) and (c) are mferences
(3) (a) and (b) are observations and (c) is an mfer%llge
@ (a), (b) and (c) are observations
frefatad @@ i el :
< ST B9 Y SRR B (US) A ST foeraeslt o feRe o ST &,
(a) fereeet wfvrl T R A ST X A
(b) i fergaeei ofeai Tam STEw aAfstd Haf
©) Wmﬁmﬁmmmm%mwmm@‘@
X et St §
SR A Fe & N
V) (@) ©) ¥R (0 o & e
2 () HEIRA & SEfh (b) 3R (c) AT g gxw
@)  (a) 3R (b) sreeiEma & iR (c) IFAF ¥ =
@) (@), (b) 3R (c) erache ¥ )
-
P11 (WA R 6




; i e

ng on a horizontal table. Which of the following statements 15 tru |
>on it ? [g=10 m/s?] _f
5 N acts on it in the upward direction ‘

acts on it in downward direction
cts on it

s e (atE) 1 ESE (Fah) 500 T §1 99 W e 9

O] hldl =h



: s in column B
73.  Match the substances in column A with their chemical name

(a) ®)

(@) Slaked lime (i) Calcium oxide

(b) Table salt (i) Sodium bicarbonate

(c) Limestone (i) Calcium carbonate

(d) Caustic soda  (iv) Calcium hydroxide

(¢)  Quick lime (v)  Sodium hydroxide

(f)  Baking soda (vi) Sodium chloride

(W) @), (b)-(v), (©)-i), (d)-Gi), ©)-6) (O-(v)

@ @-v), (b)-(vi), (0-(ii), (d)-(v), (e)-6), (O-Gi)

(3)  @-(vi), (b)), (-(v), (d)-(0) (-G, (O-Gv)

- (@ @-0), O)-(vi), (0)-(ii), (d)-(v), (e)-(i), {-Gv)

e A § e T wereil 51 e B i e S TR A & WY GHS HIfI
(4) ®

() I @) Hfcww RS

(b) Wl THE (i) Uifean aEFEME

(c) T TR (i) HfeHam FEHE

(d) wHifew R (v) Heaad TEIHRS

() fomgasm  (v) e TEgEES

() ST e (T (vi) Hifeaw FiREs

(1)
()
)
(4)

(@)-(iv), (b)-(v), (0)-(iid), (d)-(ii), (e)-(i), (£)-(vi
(@)-(iv), (b)-(vd), (c)-(iii), (d)-(v), (e)-(1), (£)-(ii)
()-(vi), (B)-(i), (c)-(v), (d)-(), (e)-(ii), (B)-(iv)
(@)-(0), (b)-(vd), ()-(idd), (d)-(v), (e)-(i), (B)-(iv)

=t o

)

: . ¢
74. The difference between maximum and minimum resistance that can be obtained by con®®

1
three resistances of — £ each is :

3

1
1 0

@ 0

(3)

8
gl 4 10

At SR = WY 3 i 5 S SR e L Q%?ﬂamtﬁﬁsﬁgﬁ%mwaﬂ

T WY

W 50

P-IT [HRTRmmnmunm

@ 10



s are responsible for acid rain ?

) Oxygen (c) Ozone
Nitric oxide
(3) (b) and (c) (4) (c) and (d)

(a) HESSH
(d) HcH SEIAES

\M/

(c) T (d)

ason (R) :

(A) and (R) =

f micronutrients (nutrients
ylanganese S1um, vViagnesium, ( opper
Q‘)w'i?-%‘wsr Aluminium, Chlorine

o3 \‘»l'-'*i;l. « 1

QI INTIH, HIATSEH, e

T H YR GG




1 'hi <h would MTects. e
78.  Read the following paragraph carefully and select the option WHICHL rectly gy 0

79.

80.

0

in the given order. ical instruments have specific vy,
Sound is produced by vibration and different ml}SlCﬂl.ms Y itisthe Strotehe ; lahﬂ‘ h
a_X__ the sound is produced by stretched strings, in a ndis the aircolipm, by
vibrates andina __ 7 the vibrating part that produces so ' o |
X, Y and Z can respectively be :

: i k
(1)  ektara, violin, piano (2) sitar, harmomumﬁnd}?da
(3)  dholak, ektara, mouth organ  (4) guitar, tabla, shehnai |
fFrfefea e = e W Aen S e o < I S W IR B o,
T W | 5
WA S BT S S e - < 3 fofeee A AR 1 X% A A

m@ﬁ%,iﬁmﬁa@wﬁ%ﬁwm%am_z_ﬁﬁﬁwwww 5
(Fem) )

xvazam awie: GOV TEXAMTAK.COM

(1) e, rafem, framr (2) foar, s, S
(3) I, AW, TG-S (4) fRR, Toen, wem

A teacher, while teaching the chapter ‘Body Movements’ to class VI students shows the fo,
images to her students :

A sailing boat, swimming fish and a flying aeroplane. She then asks the students to reflect

shape of the images and the manner of movement. Which of the following are likely to be emy
by students in answering ?

(a) Classifying (b)  Observing () Inductive reasoning * (d) Measuring
(1) (a) and (d) (2) (a) and (b) (3) (b) and (c) 4)  (c) and (d)
@WWWE@VI%WM@‘WﬁW'%WWWWﬁ
g:

ST T 1, $eft Tt iR T ved 2 & TR Teremfefeil <) il & A E
& YR 1 Ffafetiaa w0 % forn et & ST S % o fornfii g ey § Qe Gl
fraifsa faran smom 2

(@) it (b) SaERT (€ T qhsiior (d) =

M @@ @ @WE @ moex © (4) (o) sl (d)

Identify the correct statements from the following :
(a) Generally non-metals do not react with water.
(b) Generally non-metals do not react with acids,

(1) Neither @) nor (b) (2 Only (a) (3) Only (b) (4) Both (@ ol
9 A W w91 Tem iy ;

@) M= SHIg S F W s T
(b) M= aqmgamf%mqaﬁmaﬁml

G

. &
P-IL [H0mmmmmm 7

30
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X'and 'Y are thick, black liquids which can be used for metalling the roads. X is derived -fl‘Oin
petroleum and Y is'derived from/coal. Which of the following can X and Y respectively

1 Bitumen, Coal Tar
(38) CoalT ' al 3 Charcoal, Bitumen

e

R N
XY e <l

1 28 € ST SN weeh 1 el 2 % feru, foan s waan 1 X giferm & =ge ¢ @l
XCSRITe! S | TR & 8, TSR X Y @ e 2
(1) =, A () fogim, wemm

= (- .1-}:;}"5[: K‘?l'h

lestitem given below and
Column - B:
Joule

to justify that the item is poorly

ible entries in column B

unequal’

2 ARG ol 9o
" - B

ST

HAU SIF




83. Read the following statements and select the
usmstion (65 well due to 0SMOSIS.
Dried raisins when left in plain water for some HME 2 =
Reason (R) : e
Plant cells have a selectively permeable cell membrane:
(1) (A) is incorrect but (R) is correct. )
ation for (A)-
(2) (A) and (R) are both correct and (R) is the correct explanatio
tion for (A).
(3) . (A) and (R) are both correct but (R) is not the correct explanatio (
(4) (A) is correct but (R) is incorrect.
frefafaa e B ufer 3R T ey &1 99 i ;
MY (A) :
q@gﬁmﬁwﬁwww%mmwﬁ@gﬁmwﬁgkwﬁmwma
—**"z{{’”}
eh (R) : %‘”’ £
Y
e FIRTEHIE T RO © Y T B e S 31
(1) (A) TR & g (R) &l ﬁg_ﬁ%
) (A) 2R (R) I el § 921 (R), (A) T W& =0Em 2 ;_f;’:
(3) (A) ¥R (R) I T T (R), (A) I T = w2
4) (A) T T T (R) Ted 2
84. A body has a linear t f ,
£ ody has a li momentum of p and a mass of m, The kinetic energy of the pody
2 ,
(1) pm 2 p°’m (3) 2p%m f:‘;;\ I & P2
N 2m
ww fifs &1 a Fo p au THHM (Fahi) m ¥ RESE TS
M~
-
(1) pm @ pm 3) 2p2 S 2
mo‘/ e O T T
. 2m
p-I1 (R v 32 St
Y Q0 L

correct optio

%




85. Wt Lts!,u of the follow;
(1)

:‘G!M !i"irﬁ ;

(2)" Both S1
(4)" Slisf

e .‘_4.\

Al BTG AfCU o1 et fofehed =1 =

A Th G g S|

sinot desirable with respect to carrying out of a lassroom demonstration

Follow up. the demonstration with éik:ﬁubl;s:i'mb.

Rehearse 'the demonstrafion beifore carrying it'out in class

hand the I1nka S that students are required to make
: (] d

Ty 1 1ce befc -
fmMpnasise perolre.

Supplement the demonstration lanatons

HAIAEd H 3 CARIESS




. ~F LA -
rgcience P

e sta teme!!

odify thelr ideas

88.  Which of the following best explains th
(1) Scientists are open-minded and willing t e
a claim pased

(2) Scientists judge the validity of
n naturé

(3) Science is purely inductive i
(4)  Scientists do not trust the findings of other scientists
mﬁ@ﬁ?%mﬁ‘ﬁaﬁﬁéﬁmﬁmaﬂ%'
U)aWWFWWmWWmeﬁ%ﬁﬁWWW
@) W%Wmaﬁ%aﬂuﬂwéaﬁﬁmﬂﬁamﬁm%

(3) o ot § g © Q S
(4) SRR TR () Saifr ¥ Sa-afoml © e T €

g rusting of iron are true ?

o 1 SATEAT A €2

89. i i
Which of the following statements regardin
(@) It involves a chemical reaction between iron and oxygen.

(b) It is an exothermic reaction.

(c) It can take place at room temperature.

(d) Itis reversible reaction.
() and (d)

(1) (@), (b) an
ettt A v AT
(a) ¥ B (Tie) 3R off |
(b) %@m&iﬁafjg?ﬂ%mmwmﬁwm%l
(c) & | AT (HIS-A4) R & Gl
(d) 8 SoRvilg sifufsman &
O @OFG @ @O @ @
(©) 4) (a) 3R (d)

90. WhiCh Of the fOHOW. is a
ln :
g set Of amma]s in Whl'ch ]].
ShOW exteI] 1a ?
l fertilization

(1)  Frogs, fish, starfi
(3) Lizards, b o 'mh ® Hens |
5, butterflies, frogs a g S, lizards, butterfljeg
. utterf];
forefefaa maﬁaﬁwwﬁ—lm%vﬁmﬁ erflies, frogs, fih
(1) ¥, 7o, RRfRY ; e '“E"ﬁmfﬁ%)
(3) foume, faaeh, dow ((4)) o ot
fRret, e
) ¥ 'qw
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IMPORTANT / Wgeaqef R fro
31 to 90 EITHER from Part - II (Mathematics and Science) o

W/W
/

SOCIAL SCIENCE - JIFIRA S1ezRre | T fasir
selecting the correct/most appropriate options.
Sugar faswey g

estial bodies :

— 11 (71T & Fr@TT ) T WA - 111 ( A

joned by people from the seventh century

K INTOrms

a lamil WOIK

rapuranam

YOI Y



reformer !

A ing
he follows
; ne Of t i abal
34. The book ‘Stripurushtulna’ was written oy WIZIZC)h OP’aﬂditE.1 Rldil:J .
(1) E.V. Ramaswamy Naicker (Periyar) (4) Tarabai 5" e
(3) Veerasalingam Pantulu . rscisd ‘
TR T e bl Tl ﬁﬁ%ﬂm GIEIE
2 ?
1) St TR R (ARER) @ e fie
@) e g 4

- oUS areas. Select the maost «,
in |

- . 1t in mouﬂta
35. Railway network is now extensively being built

. reason. ‘ en
(1) There are advanced technological develop'm
(2) Itis easy to construct railways in mountains.
(3) Mountains are highly eroded.
(4) Mountain people are making railways. e |
TSt &5 H o1 Yot @ foqa Frato A @E aifer SR T ;
(1) 8 wor Tt 3 fery 5= ST o FoT g
(2) TS H Yol w1 i ST g €
(3) RIS W& €|
(4) HETE! SN T R SR R |

36. Read the assertion (A) and reason (R) carefully :
Assertion (A) :

Dadabhai Naoroji, one of the great leader of Indian National Congress, never become the Presi
of INC.

Reason (R) :

He was a businessman and publicist settled in London and for sometime a member of the Br
Parliament.

Choose the correct option of the following :

(1) (A)is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)
(4) (A)is true but (R) is false

ARYT (A) 991 HROT (R) FI & § 72
afueRad (A) ;

(1) (A) e & fofg (R) W
(@) 2 (A) W (R) T & 7o (R), (A) F 2R
@) = (A) T (R) e # foreg
@ (&) ¥ & fofg (R) o

P-11 [T

Y
(R)/(A)aﬁaﬂ@]qﬁml

36

e



37. make up the bulk of the Atmosphere ?

e and Helium (2)  Nitrogen and Hydrogen

dioxide and C

m\\
(4) Nitrogen and Oxygen
L)

Fi < R A ¥ o

Rugby ball

HEHEA

Teft 7ig

raint A

yved for marriage
years

18 years and 16 years

[ STHITH IR (R
IAdH 3. ‘

L ETRLIREE]]

17 =

ol § il S
qY d«dl 1o 98

18 dY &1 16 94

rowing crops ik and barley are located in

e correct opuon

Nileir: hills Garo hills

Malabar hills bulaiman and Kirthar hills

T thdod SM o AdTH Q& A A ™ [ ©&H H HA &




: ?
41, Windg blow Iy leaveg down the pavement. How do W inds blow
(1) MOVement ;
f plants and animals %
2 ™

) o essute area.
Ovement of alr from high pressure area to low, pr¢
M

®) Ovement of 44, from low pressure area to H‘iéﬁzpresw e
(4) Movement of condengeq air. rjhg
mm“ﬁﬁﬁ@ﬁqﬁ?ﬁaﬁm%l o S e € 2
MRl s Frr-sigats o,
@) 3w 88 85 i oiR g 1 )
@) Frem & v 7 & T S AR )
(4) Hafg g =y
42. Read the Assertion (A) and Reason (R) carefully :
Assertion (A) :
In 1960, the bilingual state of Bombay was divided into separate states for Marathj and Gy
speaking people,
Reason (R) ; 0
In 1966, the state of Punjab was also divided mtdmft:vo States Punjab for Punjabi speakers
Haryana for Haryanavi or Hing; speakers. ;“}%
Choose the correct option of the following : ;Eé
(1)  (A) is false but (R) is true .
(2) Both (A) and (R) are true and (R) explains (A) .=z
(3) Both (A) and (R) are true but (R) does not e plain (A)
(4)  (A) is true but (R) is false ™)
W(A)HQITW(R)E“I H RS
ARTHLT (A) :
1960 # Tt =vars Wi =1 it s ey Wwﬁ%maw-mmﬁﬁanm
T (R) :
1966 ¥ ot <t st Ty < T & g1 o, v IR % e st afeamon, ot o el
Tl o ferg
Frfefad & 3 wé foea 29 - 0c
(1) () Tem & fobeg (R) 1 -
(2) i (A) TE (R) W € 91 (R), (A) %) =@ m%;,
(3) 3 (A) T (R) T & g (R), (A) T = :WNLE?HTI
(4) (A) 9@ 2 fFg (R) T :f
iz
poxr IRV A Ry % N

e
PR



: S
1 one person to another through water, food, air etc. are called a
(2) Genetic diseases
(4) Acquired diseases

e 1 — T, SIS, o1 et e B, 59 -
‘ (2) STIERTS ST wed |
(@) SufSa et wea E)

N o L VRS
J A H dcl S

(=< (B) Tl |
[l (A) T (B) 7Ieid & |
Which of the fo

ent with reference to present day

resource ava
(a) Reducin onsumption of resources
(b) Increasing resource use
§ Rarsre] . ST TR
Recycling resources
Reusing things
noose the correct options
I THY b S8 SYCTSHl b b 91¢1 TdquISoI
HATEAL bl JUd <hl
GATHAl < 390 H di&

QOTEA] S




[ L Lra pasy
: i 1‘(1|W"]}
. » Gangd B

that explain the

w in this regtot:

| region:

on climate:

phy.
(a), (b), (

46. Choose the statements
(a) Coniferous forests gr0
(b) The Basin lies in sub-tropica
(c) The areais dominated by Monso

. ' a
(d) The basin area has a varied topogrt

Choose the correct option : (b), () (d) ‘
1) @ () @ @ (@) b)) ©) o 1 A ke
Tt SR A TS af 9 e 7 7

(@) 9 WRW ¥ vigur I T

(b) ¥ afew i § feerd gl

(O T 8 ey er: A ¢
(@) e i & R S e ¢
TE faeeg &1 997 Hifad |

1) @ @ ) 2 (a), (b) ()

o mo@ ® @00

Torrid Zone on Earth receives maximum heat as :
(1) rays of the sun are slanting here

(2) itis land locked

(3) it is bounded by oceans
(4) the mid-day sun is exactly overhead

g@mwaﬁa‘eﬂmﬁu@ﬁ%mmmﬁ%aﬁfﬁ:
(1) aﬁqﬁﬁmﬁﬁ@@?ﬁ%
) g TATS ©

3) % werarri 4 ol §
(4) e 51 gd S TR F TR ¢

48. Read the statements (A) and (B) carefully :
(A) : The Veda Samaj was established in Madras in 1864.

(B) : It was inspired by the Arya Samaj.
Choose the correct option :

(1) (A)is false but (B) is true
(3) Both (A) and (B) are false
ol (A) Fe (B) F1 97 § TG :
(A): ‘iz gETS ) TG 1864 T HETE H g |
(B) : 9% GHIS, a1 gEreT @ Ui ani

47.

(2) Both (A) and (B)
(4)  (A) is true but (B)Elirsef;::

Freferfan 3 @ W faded I :

(1) (A)W%ﬁFﬁ(B)HB"TI @) 2 ()7 @

3) 21 (A) 7€ (B) TR € | @ (A)w%ﬁ%):::z.a
|

p-1I mummuﬂllmmmm N



history into three periods - Ancient, Medieval and Modern.
he following :

(2) Both (A) and (B) are true
(4)  (A) is true but (B) is false

sfean’ & ami ¥ werifyrd e
Al - WA, 7 SR enyfres H afer £

3 (A) 91 (B) WEl B |
\(A) T ¥ T (B) e |
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52.

53,

12 (T

s call
Ladﬂkh 88 g pf
( a) Geogra}’hlcal p ,]Iui '-.: .
[ar C siﬂes (a)’ (b) ¢
(C) Slfnl ot Optio_ﬂs (2) ) b) aﬂd ( i
Cho0s¢ the €0 i d) (4) (9)’ (
0 @ OAGhS qﬁ 4 Z
o © (@ an @ 294 fe el
& %Jlma;
(a) ‘:‘”’iliél f (d) ‘lﬂmg
o T o
|
Hﬁmﬂa—qﬂaﬁ{ 2) (a’(b)aﬁ{(c)
0 @00 (@ 2, © 37 (d)
S (d @)
@ ©© (d)
whichoneof the following ;s not true regarding I—Iindustan Socialist Repubhcan Associ
Choose the correct option :
(1) Members of the HSRA sssassinated gaunders, & police officer
(2) Bhagat Singh and his comrades {ounded this organiSaﬁon
at Firozeshah Kotla in Delhi

@) Itwas founded in 1928
(4) Itwas founded in 1928 at Amritsar in Punjab

WWW@WH
. (TE.TE.3RT i : '
by )%aﬁ{ﬁﬁmﬁﬁf@ﬁﬁ@ﬁ?—mﬂ
(1) TETEIRT ¥ g X g
Tied W

(2 '
) e fife iR ST i JfeTH STHTT hT T A ot |
(3) 19287 feeeht ¥ Rl  THR G iy

I

(@) 19287 T 3 SR gy
Whﬁt rnakes an Ob‘ E§ l
(1) Discove VL iy substan
®) Uiy ry of object €€ a resoyy;
waﬁamor ueability (2 N
AT ey ) Purif;
O T @ ey on
Xtrack:
g on

(3) i S Ty



and Reason (R) carefully :

reign tlxat‘;the different elements of Mughal architecture were fused
ous synthesis. !

ount-of ‘construction activity especially in Agra and Delhi.
the folloyx_fjting :

! d(R) explains (A)
1t (R) does not explain (A)

Y

Ta¥
-
ah |



; e Wo
lown as Granames of th

fd’. Select the conditions that by
Py

i

g‘ﬁ“\\
MK
Yy

au

Peg 'lb are very hardworking here. J.,,
; Scientific methods of cultivation are
\é;!) There is a lack of rainfall in this region.
L“' se the correct option : i
@’) (¢) and (d) are correct () (a)and ru .
() (b) and (c) are correct @@) @zn w fmz;

\f S a&‘a !-.‘-
EE

<l {999 i1 =R
ﬁﬁlﬁ;&gﬂ

e NN T e MR Ac T e\

TR ST WENRTeR oh ST = e |

o e S e &

&I I S TR B € |

B 1 fme S P N T T T e VR
IR bt S feferat =1 272 i e ST & |

T Yoo T =Et a —n
N AR H a8] %] St Bl

{al f —y——
=;r.1wm:z < hl 999 "mmm.
(1) (o) 3 (d) wet &

(b) SR () W&t &

Lines drawn on a globe are "Jiﬂ'i‘!ﬂWu t ﬁli(ﬂ 1.“/ l im
> ‘»”5 udes,

are Qilvwm\"‘h arth and :+ 13,
on earth and fllﬂ@t(fk‘ii“’ Dhvetieal ¢ .
== POVSIcal featbiaa . ]
L PALY'S «:Mtwf_:ia!m:!:«wji?f 2
10 make Hf;.r’l:ig’ggk\ ON globe I
10 locate places on 2arth

a"t:;hl;”“, the ‘-4‘15’;»:




SP

(2)  Gravitational force of the Earth

(4)  Rocks and oceans on the earth
P STYHEE i ¥ | 1 =St A 1 gest 5 = St S W ¢ 2
YAt T TR T

sons and Assertions :
Assertion (A) :

(1)
\émﬁ) e and ;@E{g\ 1S the correct explanation of (A)
.»("ﬁ) Both (Q,\g) and zﬁg) are  and (R) is not the

(A) 1s frue but (R) is false
(A)1s t (R)

[ € 491 S Ush & Tl %@’i’%ﬁﬁ‘séﬁ




P-I1

T (R) :

f] te Choose the correct statelne
s 1s O )
. l_’ Quce

.”}1 7 ‘ {‘
@) G&I«m‘ «-» (\f ;i (©),
‘\“ ‘; )ul@wm:x:i‘ £ ¥ =

TR 2 (5 2). o STV S &
fﬁf&}"ﬁitﬁ

(a) :U‘"NW lﬁ%"::‘is;ﬁ;tm‘urrm,rimﬁw |
(b)

\m S A 7 M;rmrmi‘&iﬁ ol

w vrm A9 SR lr;-jt:»u i 3 HAYGhdl wﬁU V |

w M 951 3 3R JIF{'I i ST Bt il

IEE T SR mumﬂ

&) (@), (<), (d) =& ¥ @) (@) ®) QT E
3) @))@:mmi%

@ (b, (0), (d) T
\Aaﬂﬁ’@:ﬁ is the be

best method to teach the conce ot of ‘I
@) ﬁ.mr (@) @@M 5 B
ST iﬁuaﬁ‘“ﬁvﬁ;ﬁjmﬁ*@ifﬁt‘]mﬂ
,@) Heigr

@) FH =
Consider the

®) | fé‘él;}“@sﬂ,’ o 4)
3 nmmn‘g Assertion (A) and
Assert; on (A) :

N (R) and choose the correct
: °s that make up the social science are history, g
‘-em«f '
Reason (R) :

w ere is inte mrm hip nm vxmxi‘t-; disciplines,
Ise but (R) s

n-i(.ﬂiju (fg);d“o) ﬂﬂ:&
@ try 15-;‘1-f‘\ﬁ)nhlﬂntoiu

(A)

eXplaing (A)
'muufM) W fa T4 shi 97 3 ‘,u, "’F'r‘- L 5 %ﬂ&m
i g 'N'?'.z':"":\‘w;w P :
I lu e !M Flhn R qd 7 %t.!w ,;gsu.,; w;rur(, r-rw qqT Wku:«,m :
H””””“ S Hae B

(A) 77513 .N'w:ff-.fs?'f
(A) T (R) i w¢

A) STR (R) 21 178 #

(A) el ®

A AR




(2)  (a), (b) and ()
(4)  (a), (b) and (d)



65. Assertion and Reason : ‘ o i
{0 a MOTe involve CNgagemg,,

Aasertion () from rote leamin??
Open-book exams shift the focus away It
textbook. .
't neec ‘pare f,
Reason (R) : udents 35 they don -

Open-book exams reduce the burden of 8
beforehand.

Choose the correct option :

(1) Only (R) is true

(2) Both (A) and (R) are true and (R) 1
(3) Both (A) and (R) are true and (R) is not
(4) Only (A) is true

TR 3R &R :

IrfireReE (A)
@Fﬂwqﬁmw@@%ﬁmmﬁftwaﬁa‘awﬁﬂaﬁmmﬁ%l

T (R) :

T T v et w5 T S it T S ThE W aa 9ee | el i i@
e fased & =a Hife)

(1) e (R) W& T

(2 < (A) 3 (R) T ¥ o (R) TE TN 1§ (A) F

(3) i (A) 9 (R) T& € a1 (R), (A) F T8 =@ T HT|

(4) <ad (A) FE T

s the correct explanation of (A)

the correct explanation of (A)

66. Fill in the blank with correct option.

An alert and vigilant public is necessary for deve]
o

(1) Autocracy PIng a strong

(2) Monarchy

(3) Democracy
@) oy
garchy

T wam =1 | fasey 9 oY)
Th g8 S 1 fawm &0 % A e sk _
(1) TehdA 2 wEi R R HIaygs %,
(3) e @ iy
p-11 (IR ARt ah

-



essment questions (A) and (B) related to the working of the state
e |
{1

ZiHOW is it different from a Legislative Assembly

d to refer to elected *representatlves who are not members of the ruling
ky lﬁm‘“ role of queshoning govt. decisions ?

S e ] \,U ) t q—'i" iiﬁlsi i!%’-jh‘ X
iiﬁrﬁ) tests LL!M‘.L_S k; ,uvgl_{.Q ge wi
maﬁju \(;x&) and. Ku) test conce;

ST = SISt e Frefees ereer s (A) T (B) R forem =1 |

(&) SINEIG TR STRa =11 2. 21 ey fier et e @ Fve 7 o7em 22
i‘»‘B}? 34 ?EIGIIFTEL'[E[” pﬁ - £ . B

wawr‘l"ﬁfﬁ) qT(B) AT o
(A) SsheT TR SRS

O

7{.\5) M2 IRET IR "] [ ST w:ﬁﬁ;ﬁ-‘} .

[(A) ST (B) Hehed e I i
2!

social science:the following questions will help to understand its

nbination of texts ?
How detailed i1s the outline ﬁ?;:«j,n‘i%i%m: 2
VWWhat level of competenceiis demanded of learner on each social science skill
the correct option
’ 1 (d 2) (a) andi(b) (a)land ' (d)
(a), (b) and (d) (2 (a) andi(b) @) (d)
ERIGICTCRIERICD HUG RIS RIS EG IR IED
A3 N ST 4 |

o IS ' O7 dod 1S 1T
OI3]chH H [ehd ehiRIC [{ o o]

h Hideh YISAqEh & Qi




69.

ould be best st
e chatt WOt
For teaching Which of the following topics, @ t.le&

& yo Jeudt‘l‘, race e
X tméh‘__as at“?"’ &

(1) Distribution of demographic variables S‘LL?

{ J1
() To 8ive summary of reign of a ruler S | scular era, such o

b articular era
. Gentsinap
B) To illustrate the hierarchy of historical evenx_
social movements

(4)

To teach modern history

%ﬁﬁmm%mﬁmﬁ-ﬁaﬁ Rk

W o, e, e et s vt =i % foen 3 ferg

() W%‘ﬂmﬂmtﬂwéﬁ%fm

(3) mﬁ@qmﬁﬁmmﬁ,ﬁgﬁ,mmwmaﬁaﬁ%mma
ﬁ@ﬁ%ﬁm

Y9
LA
() Sn4F <frers v 3 fore -
{n
~J
70.  Which of the following is not 4 characteristic ,gf ’éontinuous comprehensiye evaluation ?
(1) It focuses on marks baged evaluation of‘sfzaent' S work
(2) It makes evaluation an Integral part of the teaclung-leammg Process
(3) It focuses on all-round development of the chilg’g Personality
(4)  Itincludes an assessment of Scholastic 4 well a5 C0~scholastlc aspects of the students§
ﬁwﬁr@aﬁﬁﬁq—mm mmmﬁ%ﬁ%j
) %ﬁmﬁﬁwwmﬁammﬁqmaﬁa%l
: e
o q‘gmﬁﬁTW-ame i
& i 5 E
{ %=
3) %ﬁmm%mﬁaa%mﬁmﬁmqwiﬁ%%l
"’\L_;;
) %ﬁmﬁ%ﬁfwﬁmﬁ%mqgg_w “’*q%ﬁaﬁ
oy S
. Lid
p-11 [V meE ‘6’1\}
- K Pl



- pe treated
which the marginalized groups can invoke, to insist that they

1S, are ;

(3) (b) and (c) (4) (c) and (d)
ST < Hehd ©, ek S 1Y ot TRAME SR AT Sl

4) (0 3R (@)

ial science classroom

1Ng onilv domui
LLLE

::ﬁaiﬁhu;: pXar




. biective of
73. Identify a skill-based 0P] -

con o
(1) To acquire knowledge o5 ple Jiving 1

o
rstand the cultures

(2) To unde o it

(3) To develop an ability to dr diverSitY

cea ..
ifferen nd ey
difie e aﬂ;ﬁqﬁﬂﬁ

(4) To develop a respect for
ﬁwﬁ,mmmm—c.;ﬁa:
(1) wEREl &1 3 o
(2) ﬁf““fmﬁwﬁaﬁeﬁfﬁﬁwﬁ@

(3) oM S 1 &rwal faentad T

(4) i aiR fafaem & forg et fanfad HTT

i igious and linguisti
The statement, ‘The Indian Constitution provides safeguards to religio guistic

as part of Fundamental Rights’ infers that :
(a) it protects minorities against possible cultural domination by the majority.

(b) it protects minorities from any discrimination by the majority.

74.

(c) it safeguards minority interests.

(d) it guarantees economic opportunities to minorities.
Choose the correct option : V

(W @, ®) (© and (d) ) (@), (b) and (q)
(3) (), (c) and (d) @) (@, () and (q)

) ST & el # e
(d) =% srevHEr %1 e sy i
W o 1 < i
1) (@, ®), (¢ 3k @)
@) () (o) iR (q)

T

CICE

@ (), ) 3k (g)
P-11 (N A ey "




[) V- . i tains
el lds_ the rule of law, without any fear or external influence, and maint
ctions of the government because of :
shrined in Indian Constitution

in India

SRerall A G 3 I 1 YA T A A TR wE

3 .
AN G

omen'’s safety and enable them to take up jobs,

) e
(D) anda (Aa)

& 1 32
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. . . es m IIlL
77. Reasons and Assertions : com villag

Assertion (A) : B rep()"[(‘d
Many cases of farmer’s
Reason (R) : o
Failure of Monsoons and inability to rep
Choose the correct option : -— (A)
(1)  (A) is false but (R) is true . the xplansilﬁoaﬁon of (A)
(2) Both (A) and (R) are true and (R) ,lsnot explan

(3) Both (A) and (R) are true but (R) 1s
(4)  (A) is true but (R) is false

T IR Stfyerem

R (A) : 5
WIRA % Tiiet @ fRE % e e 3 A e RS

it e ReCl] CECiR
TG 1 3T4E SR st (F) Wmﬁﬁaﬁwmﬁﬁﬁ@mm

& faswed 1 =97 HifST

(1) (A) e § R (R) W R

) (A) 3R (R) A T § 71 (R), (A) F TG FEAE

@) (A) 3R (R) S T § TG (R), (A) F1 wA RS T ¢

@) (A) T ¥ T (R) Te B |

e 2, .
suicides have be 055 AMONE farmers.

: listr
ad.‘v to ¢
ay 103“5 le

78. Assertion (A) :
Teaching of social studies is important at the elementary stage.
Reason (R) :

It sensitises the child to social issues and develops in him/her a respect for difference and di
Choose the correct option from the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) d i

(4) (A) is true but (R) is false ) doss not explain (A)
sfumeT (A) :
uﬁfwwmmﬁmﬁammﬁrmm@%

& (R) :

ﬁmﬁﬁ@ﬁwwwm:
(1) (A) T & T (R) T ¥
@) (A) S (R) 3wt & qen
(3) (A TR I 7 & v
@) (A) T ¥R (R) e 7

pxi (i maie

(R), (A)aﬁwm%l
(R), (A)aﬁmqﬁm%l

54



. jence
. ocial Scie
g is most appropriate for reducing curricular load of S

Py,
i ! jon.
Phasis on memorizing facts and focus on comprehensio
\ (2D
tual clarity, ok

Hrrana

. lacks of
Pics from the tei;tbpok based on exam directives and teacher’s
L0
(@), (b) and ()

(4);",Only (b) and (c)
& T Fretfefad # 9 0w IUGH T ?

T ST T

1T SITE




81. It is

-ginalised sectiong iy
1 11(11811111
ts belonging to 1
n
' i be stude
POssible that there might
When

f-marginalisation, which of the r’ollowmg t]{;?‘,:
) otion off 13
you ke}é?)uir? o 'talkllj;%o?: ?lilttr(t)f(lii;ng the tbpl C ;ight cause discomfort to thoge beh‘my:;\,
(a) Taking nameg of particular communihes |

COMmunitjeg. - .Ngsiﬁvity. o
(b) Such issues neeq to be handled with Sen about their experiences of djs, ”mma“ﬂn
(0) Some Students might feel shame in e '
(d)

o iences.
1eir experienc
Students should be forced to share tjl}eui p
Choose the most ap

1)

W fowg

(2)

Fropate opin: ) @and(©  (4) (), (b) ang ¢
®) (@)an
@ ®and @) () (@) and

ST W5 & o1 ot o, Tafoe o Wﬂﬁﬁmmmffmz
, ?
U G oM e 8 4 fomy i o AT & Ay

82.

()
@) EWWW%H@WMWWW

1 T Y 4 o e 21
mwﬁmm%eﬁnmﬁ%|
3) .
‘ b, H
(4) TEHIER ¥ o Sl m?@;?ﬁ'm

56
P11 (IRA e



MEL

otate wgs t,iik”( N cannot

otate can regulate religious a

4 education ag

% Aot ndently
per NCF 2005, are social science topics indepe
extbooks ?

(2) Primary Stage

(4) Secondary Stage
Ry o T A o 3 e e w A eIgEh A

4 QO fas hel ‘ShT 97 ShITNTT ¢

tains'a “Principled ce” with respect to religion. This

couldiinterfere in religious matters on the basis of

ate and religion can interfere in each other’s matters.

transeg OTESS each ¢

siwhen need'ar

ose the correct option

qlZ

HGIldch S JHU TGl &

~e
ElllHSh HIH¢
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85. What is the advantage of field wO

(1)
(2)
(3)
(4)

g fore 0 R & w9 A

(1)
2)
®)
(4)

| geienes
‘o )('h] ¢
d of 5¢
kas@
dents
he stu

Helps in testing knowledge of t o

: wlictlp
Provides students first hand kno

, arguing
gz, proposing and
Develops skills of presenting I

Helps to memorize facts o 7
elps . o (ﬁ(’g %) &

ﬁaﬁw%aﬁuﬁmﬁqﬁam%l

ST Y e T R I € S
Wm,mﬁmaﬂwé?ﬁﬁa?mlé”l

qedi ) 91E W@y § Heg H g |

86. The distinctiveness of Adivasi societies is attributed to :

(@)
(b)
(©
(d)

prevalence of caste system
practice of a range of tribal religions distinct from other prevalent religions
distinct language use

presence of little hierarchy

Choose the correct option :

1)
@)

(@), (b), (c) and (d) (2)
(b), (c) and (d) )

(@), (b) and (c)
(a), (b) and (d)

St T F1 fafirn w1 o d

(a)
(b)

1)
)

P-11  [[TIRIEIata e

S e & Y9eT &5y

@), (b), (c) 3 (d) ) (a) (b
(b), () 3R (d) ey




e features of a project work ?

lity to the students to go beyond the textbook. )
11d ; K 1 m
24 ideally be done at home so that there is more time for teaching

elop collaborative skills in students.

(3) (a) and (b) (4) (a) and (c)
T faferean fafereeard #/% 2

Fen § fonerr & fow sifes ard faa a4 |
Il & faerg ¥ Heg FEA B

(a) 3R (b) @) (a) 3 (o)

students critically look at the role of media in




sy @
ll";‘l

5 'al“ i
89. Which of the following statements aré Leg

(@) Itencourages problem solving skills: {dent
1 ovaluate €V
(b) It helps find ways to gather and eval

(c) Teacher decides the pace of learning:
(d) Itis a quick way of learning:
Choose the most appropriate option : ), (© an d (d) @) (a), (c) and (4,

(1) (a) and (b) ) (a)and (© (3)

e 1 4 i 4 e s 3 5 A T
(a) ugmaﬁaawaﬁmaﬁmﬁvmﬁam%' |
(b) ﬂ%m@wﬁaa@hﬂmﬁﬁaﬁﬁwwmﬁﬁmm%l

() furfiep ST ) T B 7@ FA

) % T o A e e

wad Sfaw fasea o1 =997 S

1) () 3R () @ @3 G ®),©I@ @ @ 0@

90. Following are some questions/comments that you have received from your students inad:
Which question reflects the student’s ability to critically look at the issue of poverty:
inequality ? '

D E’Zhy? does government give free goods to the poor ? Won't it make the
y ?

(2) Why is it that luxury cars and beggars can both be seen at traffic signals ?
(3) Why can’t poor people work harder to improve their lives ?

(4) When will India become developed and get rid of poverty ?

frefafaa wea/fewforEt 3 1ot we we 3% . ' ,
 STHHMAA & T T mwﬁm@fgﬁgﬁﬁ%l o Y w-a e el

(1) e i 1 S 82 7 7 e e

@) T e i e a2 ) o S ferere e
(3) O A S e el o e e s S g
(4) TR 5 fefi 9 i et R e v 2 T ?

p-11 i -

e ——



: PART .\
LANGuUAGE .| .

ENGLISH
rt-1V (Q. No. 91-120), if they have opted

A.NGUAGE-I only.

lanswer |
= 5t e questions that follow. (91-99)
‘uia
’ When my daughter spotted a cluster of familiar red flowers.

R00king excitedly at me as though she had a secret to share, she
Spered in my ears. I shot up straight almost as soon as she
Outh ajar, I was about to tell her that it was probably not a

d to the time when I was around her age.

I'was dead tired. 1 was walking along the pathway
friend grabbed me by the arm. Before I could do

m the cluster and showed it to me. Unimpressed,

d was about to admonish him when he turned
invisible thread-like thing that protruded out

= SV 'W—::-l ]
_uJ-&ermwﬁ

it, a tiny drop of nectar appeared At
eet. That day we raided the ixora
s till today. My daughter’s urgent
cided that she too needed to know

the joy of tasting sweet nectar

o be ‘ik}g;ji;ggm‘-'»i'i':;'ﬂ 1n time means
o take 1uture decisions (2) travel backwards
recollect memories of the

o indulpeah time travel

C 1. ¥ »f.""u«.“""vv'““
dentify the parts of the underlined words




.ldhood .

.y cht . school days.
. ) i of her ¢ the . .
95. Read the following sentences he memor! 3 gmorics Ot Jeasures of nature.
(@) The writer is traumal’iscf1 by sac nostalglc to{a{e,sw“‘
The daughter’s secret prings D¢ secte s
(b) daughter’s , conf %

child to b€

(c) The writer wants her -
n) 15 lnCO

(1)  (b) and (c) are correct, (a) 1 - orrect
(2) (a) and (c) are correct, (b) 18 correct
(3) (b) and (c) are incorrect, (& 19 orrect
(4) (a) and (b) are correct, (c) is 1N€

rrCC[

96. In para 1, according to the mother it W
(1) walk along the pathway alone
(2) taste sweet nectar from flowers
(3) raid the ixora plants
(4) walk in the garden the whole day long
97. Read the following sentences :
Assertion (A) :
The child was excited to share a secre
Reason (R) :

as not @ goo

dridea to':

t
h ¢

t with her mother.

ry lane.

) is the corre

. : . emo
The mother was in disbelief and went down 1m & explana tion of (A)
%& L% |

(1) Both (A) and (R) are true and (R
(2) (A) is correct, but (R) is incorrect
(3) Both (A) and (R) are correct

(4) Both (A) and (R) are true, but (

Pl A

é"“aﬁa} ﬁgi

R) is not the correct explanation of (A)

B

98. Complete the word analogy : %M )
cluster : bunch : : puny : _2 : M:j
(1) long-stalked  (2) delicate (3) &dlourful (4) prickly
]
99. ‘To be dead tired” does not mean - Wg‘:‘gﬁ
(1) to feel refreshed (2 to feel 160 tired to walk
(3) to be exhausted (4) to be completely exhausted
Read the given extract and answer the questions th
y tf
My tea is nearly ready and the sun has left the sky; At follow. (100-105)
Its time to take the window to see Leerie going by-,
For every night at tea time and before you t; ,
. ake
With lantern and with ladder he comez posl‘ingyuO;’u1 rtlf:i,tt’r :
Now Tom WO}l]d be a driver and Maria may go to th o
And my papa’s a banker and as rich as he can be: e seaq;
But ], Whefl I'm stronger and choose what I'mt ,d
O Leerie, I'll go around at night and light the l'l?n o, . g»:\“*é
For we are very lucky, with a lamp before B W“{!f‘ypy
And Lee - P before the q N
'r};e stops to light it as he lights so m;z oor; m»:«e;«
And O'. efore you hurry by with ladder ar: ? y more; %‘
O Leer1e, see a little child and nod to hith to d \?zllth lighd““‘“w
) night | o
100. Idenhi}’ }’;he rhyme scheme in lines 5. g E o
a - 0. i3
1) 2 (2) abba 3) ;g*:i
1 aabl |
g (A &% 4) abab
P A



(3) it is forenoon it is afternoon

1as | lig] ﬂy

-.‘ et o

ofession with'=
(3) 1 jealousy, | curiosity

;

Cz:mu;e]t.j(g the Wﬂ%“’
?
rich businessman

‘sailor:

' 49/t and asks them to read and discuss the
the point of view of power and justice.“What does the teacher
develop 11 | t arners ¢
[ 1 language fp'w”i (2) Critical literacy skills
OYTUEL "'"M,;'»;, f,m“” - 4 - ) &
Critical language developmen

£ eda v‘"u

dentiric arion

different languages warrants Altfere:

n the native language and something

anguae




108.

109.

110.

111.

112,

113.

p-II

W

10rs 10 work41n group to tel]
oo of the claser Om oy, 0
1

" Jear
A Ianguage teacher tellg o story in English and asks

: on langua
Ianguages known to them and then in the comm
Pedagogicq] Strategy known as ? TramalanEnAI,

ol ) t
(1) Langug,ge acquisition (2) Tran

ilanguage teac i
(3) Mulh‘lingual policy (4) Multilang

ivity in which the pairs arc 1y, a
A teacher of Class VII conducts a pair s acuvﬁi’ rltnces and the other in the
Sentenceg, One in the pair reads out the first sente

' nd the first in the |, "
Sentence. Then other in the pair read out second S}:EI}fegtCOe a Later thay Eotithe rie‘ Jt ;1 %
Second sentence, Likewise the pairs complete the whole knrg’wn 5 7 e,
with the original text given to them. What is this activity

(1) Mutuaj Dictation (2) Mutual Wri.tmg-
3) Mutual Listem‘ng (4) Sentence Dictation

A learner reads through the news item in the newspaper to know specific mformaﬁOn' !
reading is known ag

(1) Study skin (2)  Critical reading (3) Skimming (4)  Scanning

Procedura] knowledge in the teaching-learning grammar is
(1) knowing the language and its culture,

(2) knowing how to do the grammatical item.

(3) knowledge about the grammatical item, -

4) knowing the rules of the grammatical item,

Shr s VI learner who moves from the Jalander in P

eya is a Clas unjab to Madurai in Tamil Nad:
her father has been transferred. She know i

S true based on the languages sher

knows ?

(1) Her English comes under language acquisition ang Punjabi and Tamj] come under lang¥
learning.

(2) Her Punjabi and Tamil come under language acquisition and English comes under lang¥
learning.

(3)  Her Tamil comes under language acquisition anq English ang Punjabi come under [an”
learning,

@) Allthe three languages, Punjabi, Tam and English yp e language learning.

Malayalam spoken by a particular communj

s
ty in Kozhikog; is slightly d; the MalY
. : . R ifferent from u
Isfr)kaen :Z ?Others i the same place. What the Malayalam SpngI}], by the particular ¢

own as ? ;

i t1 -

(1) They are htvo different languages @) Two Varietieg of Malayalam
(3) Regional dialect of Malayalam (4

Socia] dialect of Malayalam

(VR -y




i llintme of the three language formula ?
\ language/ Eng.lish as the first language.
lan guage/regional language as the first language.
3 an8uc”igE/ local language as the first language.
guage/Hindi as the first language.

en to learners in different groups. Find out what is this vocabulary

Thematic Vocabulary
Cluster Vocabulary

ntent of the text passage, which creates a zone of
hension improves. This method is referred to as :

ners who nee:
“dele

R <o |
learners and

anguage ¢




Teegut : henef wm-1v (9 91'@12")%5@ -
ﬁ-‘aﬁtﬂiﬁl / EMI! (91-99)
] g cor B F ST W H Ao

e o o T ) | ) -
mmarasgnﬁmamn I s

FHSR AL e | S

et srfees foaedia & - s, A AT, cesre AR ST W T E oy
gﬂﬁqﬁaﬁaﬁ%ﬁﬁﬁaﬁtmﬁﬁmﬁl ™ %;ﬁﬁ%mmmmﬁﬁa’éﬁlmw
30 ey e 3 20 gk R & TR T S ereifen S S o 3
%mﬁmaﬁﬁfw%&ﬁ%wﬁﬁiwaﬂw“‘””m 7
ferelt ot Te @ e T At

91. TTEIY ¥ SMYR TR T S Gehall ¢ 1o : .
(1) oRed e R R /\@_qﬁaﬁ'—rnﬁiﬂhﬁ%ﬁl
3) e T S 9 © 2) CITCRE|

92. fasmu-fasrs &1 SeER TRl © .
(1) oveAt g (2) EEE SR (@) R (4) TFE s

93. ‘e’ U & ‘3’ O I W I M :
) sl A e @) seAwE (4 swefow

94, I W F & oI Sewaes € T 77

/Cbl) Houd W@ 3R fagie ) 2) o T
(3) AT HiE FH FH A () Waazrﬂ 1 S o
95. Wfd I ¥ ol Hafedd qleh v 9 =& ot ?
(1) enfeamal & 9| 5 2 _
(3) BT e Al % U 24; :‘ﬁqﬁ"ff’q’n‘w N
- er smferrell 3
96. Wéﬁ?ﬁ"-ﬁﬁﬂqg{%7
(1) +ife, mafee, st
(3) I, amfas, st 8; :}?qu; ﬁq&ﬁ-q" i
g7, ‘TN St & e A
1) I e
e St @) =y
3) @ M.ﬁqﬁaﬁq
poxr (A o St et



@ W

& o wfa & L Fehi
anenferen, “iifas
ifeer, emenfors

Stera faerew @t w@m FfRaT 1 (100-105)

S

TR

HH L

e Y hH [Hehlci

QR 9 <SS @l |




106.

107.

108.

109.

110.

111.

112.

p-11

/@:ﬁ m o J'T** ,/r*m —-1; " }
ﬁ%awmammwaﬁamﬁmﬁ'”mﬂml sqenTgeR ST ToaTier 4 ¢
WW%Mwaméﬁﬂﬁa'aamiﬁg

F TN e ¥ o e A T
(1) =2 =/ s Heet i T AT

@) wHIrEHe e (4) L

ST Yemm g ? b s reTei T SR AR <
(1) ﬁmﬁﬁ%wﬁﬁfwwﬁﬂﬁmﬁ;ﬁﬁwmgl

() M%Wwﬁmwﬁﬁhﬁaﬂ% &

(3)  Foeeff ¥ frofr et v g ok e LA .
(4)  Toeneff = =g frofy fo weem mmaﬁﬁaﬁﬂfﬂm%ﬂrﬂmﬁ TR T HTT 7

Wwwaﬁﬁﬁﬁmw%ﬁnﬁmﬁﬁfﬁaﬁf%ﬁ@%?ﬁ $t T ST 8, 3 o,
FE Wogg G o o ) e o A e e G| § RO I g
ST & 2 .

(1) T s (2) TR SRR (ZEATfT)

(B) wEwfyes Hifa 4) El@ﬂ[_i[ﬁT&TUT

Wmﬁawﬁwa‘r&;@fwans)ﬁmﬁmﬁi@%&m@%ﬁﬁgﬁm@m
O T T A T 3 for &t 1 vl SR veen 9T T ¥ 3l So S s
3 foradt §) mmmwwm%aﬂﬂgﬁ@@mwgﬁwaﬁfﬁ@ﬁ%l ik

gm@mmwmﬁl e 3 e e Yo R U Y g e 1 v S
? T

TR & feraror e F Y 3 w0 8
(1) T 3R ITH G FY T
(2) wm%wﬁmmmﬁﬁmml

T 6 el 7 S o 3 e e

%mmw%ﬁkﬁmﬂﬁm ngm‘“ﬁﬂﬁaﬁ%@m%naﬁw

afiret sl S e W foran W“‘e‘%’i‘ﬁ‘ﬁw T
e St i %ummmm‘m&ﬁ. TS ey e

1) Waﬁﬁaﬂ'{mﬁmaﬁmwwﬁ% S - e et 7

(2) T SR At W T R ek st ‘%m-«r;;"ﬁ"ﬁ%l

@) aﬁawaﬁja'afr{aﬁvﬁamﬁw tﬁ% S e

@) wﬁ?ﬂﬂmwm,aﬁaaaﬁsﬁwww% T S

(AR -




HERT &
! i 5 ?WE&WWWﬁ@ﬁ%mwm@W@ ot &t
i T WOTTeT Y oy 2 1 ST S 2

9 3 B
1_‘ -lkl; ’i[t{,i[wk)‘, "“ lk‘- Kqﬁ

3 -\' 279
i e | ST SR e

TR &1 [qi-yfd| h (USSR eI EiCa)
x”.'r r‘[llur“ - 5

S RIRIRSET S EAMEED e,f'

[ OUET H S h Al e

[STeTieIT < foqu S 1T 3 ) STITHI 9T &7 o

1 TITITTIAT 3T 318




PART -V 1
SH
LANGUAGE - Il ENGLIST

jons fro
IMPORTANT : Candidates should attempt unStK();UAGE-II only.

have opted for ENGLISH as LAN

= 121-128)
Read the given passage and answer the queStions‘i}}:ﬂg fouz:\vtile(zr events or erratic seas,
. : -
T Mhe loss in earnings that farmers see due (0 g of climate change. Farmers wey, |

now, accepted as the most widely felt econonlig:i;lﬁP?Ct {timately affects the countrys
people to feel the impacts of climate change, w;hICh ud rices, in turn, could result

agricultural output and adds to food inﬂation.—ngh foo trftionai securit. p
slashing down consumption, which adversely imipacts N

— i n cons i .
2. A significant number of farming households produce food for their ow. umption, 1,

households have given birth to an old saying : those who ea.t their own fgoﬁaaremthechealthlest
countries like India, where malnutrition is high and food u}securlt}f’ ;151 _ gg i;\ Omt@t, 5
households have used the home production system to remain qut o by is cris r StShtUdl‘&S poiz
out, these households are also protected from market fluctuations, thus ensuring that they ,

afford healthy food. Obviously, they are not impacted by food inflation either.

3.  But there are serious conversations taking place over how climate chan.ge-mduced extre1.n.e Weath;
events would impact such households. We need to understand the link between nutrition int
and household food production, and whether~weather fluctuations woul'd have any impa,
this. Researchers have analysed village level dafafrom households with their own food products
and consumption, and co-related this with thiefocal weather conditions to infer whether the
was a correlation. The paper establishes that pedple growing their own food consume more, ti
adding to nutrition levels and attaining overatlfdod security. There was also reduction in c
stunting and underweight conditions as wellLasswomen achieving a normal body mass inde
These trends are more pronounced in remote villages.

121. Some households have remained out of the crisis-6f food insecurity by adopting -

(1) home production systems vy
(2) high food prices

(3) climate change conditions

(4) protection from extreme weather conditions

<

122. Identify the parts of speech of the underlined words,

A significant number of farming households produce food for their own consumption

(1) noun, pronoun (2) gﬂ_jggtive, pronoun
(3) adverb, pronoun (4) {E’G}L adjective

mentioned in para 1, what is the series of &vén .
12 23 increase in 5rices of food i.te.ms léfts that are triggered by climate change )
(b) detrimental effect on n_u.mhonal security-._ :
() extreme weather condm.ons -5
(d) reduced food consumption

|
i

i

&) = (b) = (d) = (@) @ @
8; EC) — (@) = (&) = () @ B> ((C)) 5 (‘%:8

ax [ (I 0
1 WGOVTEXAMTAK.COM

TSR B BTN e —n >
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er .
odl?cftilndlan h_ousehOIds afford healthy food.
& o has limiteq impact on food inflation.
CCasiona] Phenomenon in Thdia:
£CL (a) is corpect
COorrect

. (b) is correct

()  important (4) noticeable

|
\
|
consistent (4) disputable

e to household food production ?




o friendship. Abdul g

; a clos b
. ickl develOPC(’l m“:d sense of humour .bmughtf _ﬂ‘b
3. However, their working relationship quickly s energ at — other countries. Bot, of “%
the.S“Ppor;he needed. More inleoﬁ,aque{r”cd philip n'.‘f kv'nul-v keep in touch ;eg{“larl}n /\nrf(."'
. ST ‘a h( F / i 7 (] = I {70
i);(i:fe;::sl:; dz:?:( mt(t) Phlhg.-s,l‘lft,ch with a wife an.d f; red love of laughter and adven,,,
really matters t(e)rflllleii(}lrlil;ng:l’li; though, it is thetr sha
129. Complete the given word analogy : A eecling
Luxury : opulence : : sensation : 7 3 callousness (4) £
(1) suspicion (2) disaster 3)

?
together for years *
(2) theirlove for 2
(4) love for music

130. What bound the two very different men dventure sports
(1)  their immigration status

(3) warm friendship

131. Why did Philip need a nurse ?
(1) To resolve Abdul’s immigration status.
(2) To wipe out Abdul’s criminal past. _
(3) To help him with day-to-day practical things of life.
(4) To listen to classical music together.

132. Identify the parts of speech of the underlined words.
However, their working relationship quickly developed into a close friendship.

(1) noun, adverb (2) adjective, adverb
(38) wverb, adverb (4) adjective, verb

133. Read the sentences given below :
(@) ‘Untouchable’ is a French comedy movie.

(b) The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.
(c)  The movie was a huge success in France and Algeria.

(1) (a) and (b) are correct, (c) is incorrect
(2) (a), (b) and (c) are all incorrect

(3) (a) and (c) are correct, (b) is incorrect
(4) (b) and (c) are incorrect, (a) is correct

134. Which aspect of Abdul's personality is not true ?
(1)  He preferred listening to classical music,
(2) He had a criminal past record.
(3) He was quick-witted and supportive,
(4) He shared a close rapport with his employer

135. Abdul migrated to France to -
(1) search for employment
) work in the movie industry
(3) run away from the Algerian police
( 4) Jisten to pop music

p-11 ML i



afting - jotting down points - editing - ﬁna'li.zing-
writing the draft - making an outline - editing -

’Own points - Wwriting the draft -

editing - making an outline -
2 of the followin,

1 their mother tongue/home language and move on to
/. the time they complete their high school.

WO mora Tame s 2 sle medium of English/home lan age and move on to
‘en’ ;;&;:;ﬁ;;bﬁ?}m?’ ??f{}iht time they comglete their highg;hool.

g R /L‘-Xf u;xjmji;ﬁ?’%é 1 their state language and move on to add at Jeast two
All children Be St STy Lﬂ:};&}. P€te their high school,

s T Aetints : 5 blanguage, Hindi and move on to add at least
tWo more languages 1, y i

ngin

» know] ledge is
Knowing how t,
knowing to PIC

lowled

oW to 1dentify an error ;

~L Ll
OI '

Listening skill

(4)
AV S NDE 0 enallal
Juicomes attemptto'e

N 'F:m«_.fn;ug:‘ components in measurable terms.
AL P O Npo;l

he Prammatical KMMQV@?:J@S%: Iimeasurable terms.

the'competencies in measurable ferms

Lmimnimun’ levels or (:.v:mn_lln;:;* DI -,ii\ ,i\«iiL,

text of five Sentences in Jui‘.“i:ﬂ
1 1 AL
-i;&: Asked LLEIN TO WOTk 111

‘@’«'u:,,; s
&10UD Of four to

SSEEALSeX t negror to
actvity KNOWT™ AS ¢

'he same YWhat 1s this

and Enplish

00! he uses

YVhat is




) 1e formal proy.,
y tery of th eV Pert,
111(]1"':6 J

rilling !
143. Which of the following methods advocates o?ral ‘
language’ as essential for language learning *
(1) Total Physical Response
(2) Audiolingualism
(3) Communicative language teaching
(4) Grammar translation method boxes and pan to her classm\]w

late, uteﬂsllsr itChen' What are thQSQ me.‘““';‘

144. A teacher of class VI brought items like SPOOT p of objects i k

teach vocabulary from there writing a description
i ing ? . ials
(3) Realia (4) Cooking

; : 20 on language educat
145. Which of the following is NOT true of National Educahorzolziﬁ .20 &t on’
(1) Study of English as language under three languag: formula.
(2) Study of a classical language under three 1?:lI'lg'~15;1g‘lr e language formula.
(3) Study of mother tongue/home language under ¢ € dla
(4) Study of Indian languages under three language OETEAS.

. . ion it belongs to.
146. Here is a question. Read and find out which typology of question 1t X
Having re(gd the story of the little girl, you feel moved by her suffering Siicl YOUBAREh faw e

trouble. You would write a letter to the little girl appl‘eCiaﬁng her. Write the letter in about 1

words. )
(1) Discursive question (2) Expressive questions
(3) Long answer question (4) Extrapolative question

147. Here is a situation where students were exposed to the opposite perspective of the subject unde
consideration to allow them to further understand it. What does this process attempt to promot
among learners ?

(1) Literacy development (2) Critical analysis
(3) Process based pedagogy (4) Critical Literacy

148. What is “Translanguaging’ ?
(1) It is language-in-education policy on how many lan
(2) Itrefers to moving from one language to another lan
(3) It refers to understanding how languages change

(4) Itis a pedagogical process of using more than on

guages are to be taught in a school
guage while teaching-learning langue§*
over the period of time.
e language as resources in a classroo™
149. Which one of the following statements is true .
(1) First language learning and second langsaf;:r;%:i%e 1eammg ?
(2) Knowledge of the native/first language interferes Tpletely distinct.
(3) Knowledge of the native/first language has n,

150. This refers to the proficiency in academic language oy | : ’
(1) Cognitive Academic_ Fanguage Proficiency (CAL gnguage needed for various contett art
(2) Inter-language proficiency )
(3) Basic Interpersonal Communication Ski]jg

@) Communicative language proficiency (BICS)

p-11 (e -




T @Ierd 5 ot St 3ie e
A = e S WW%WQMWE&_{%

I T ey

R A &f:jj{%:

S g e N S v
Ich UHTg BIF SRS

ToRAH TOTAT
G EEZET] g3




- iﬁ"‘;‘&w‘
*&7 yz‘!,
-

¢

faercd a1 =IE ST (1204,
ﬁqﬁ?f’@a‘@fwa—?rw @Wm—gﬁgﬁmfm 3':'5_{@' — ke i Tr’*?»'lTI’“’-T Iy r)
T ST R oy IR 3 et e ATl 68 m%ﬁ T, e S AT A oy g 7,
TP g si H%Ié@lmﬁmmw m’aﬁwml A wm%}?’j
Wﬁ%'waam%-mmw@?ﬁﬁmmmm el A 54
T s Ww&qmmmﬂﬁfﬁwa e Fel ST Bl Sfiers = 5
129 L
ﬁ'ﬁﬁw‘ﬂﬁaﬂmqﬁ%: s:; a
(1) = @ dHfm )
130.%%@%%%&% H 2
131, AT T ¥ 6 R i wigfer st _ B IR ¢
(1) ez @) wofem ) seEfem (4) sufsE
132. ‘ﬁﬁ&"ﬁ"ﬁ’qutwaﬁm: Z
1) <€ @ Few @) e 4) <ifgw
133. it % fer wrtferss waeeryef & 2
(1) 517 3R YRR 1 ey ngfaﬁwmmﬁmmmml
(3) 31 % ez § <z () < e 7 g e
134. 3= W@reeg i1 Hay T R
(1) =i F s (2) ey wn (3) W @)
135. W1 TR0 e
(1) aﬁmﬁrﬁﬁ:ﬁwam @Ema@ma@ﬁa‘f%%m
(3)  WTT ATy < B SLGRL (‘:):fm ““Z‘W’*’"ﬁﬁawrﬁam
136. ﬁwmf@aﬁaaaq-mwwaw@?}%gmwﬁ :
(1) m#m-wﬁa#mm-@?éurrm Y fere iqm:; a
Mo - - _ wed
(2 mum~mﬁmm-m;~ i

(8) TR et - e g T A - e fey R S - e e
(4) Wﬁm—wﬁaﬁzm-mfﬂw ' m%? F - S

p-1I (AT e




soge ‘ .,js— [ 37

F';;;; W“ﬁaﬁ?—mmwév
2o ﬁ’&"“ﬁ’ﬂwmaﬁwﬁwwz}mmﬁ‘[ﬁwa**qﬁma

(4) |MIS= 37y RIGRIRNS
vu,wlma I HT R 2
' “*"’lLTiLICBq [ T HY

: ~§'\ &C» NEU y[&&]j .‘}\g\—l!
’ﬁcﬁiﬂi 1?]? ‘p \1“{ \:f «:;l_m{i

SHINV Tl H e i} s

4|rr1m 8

"sLx;mua:f‘fﬁlsi i hEYT = ”kil{ﬁi‘"?alﬁi*”

H 4ls$a:ciﬁi“rg»r A T B H @ F 2 g
t{rhal\p‘ll @”") J.

T (2) 37egy 'mgqg

@) & HivE

< r‘,v“fr (Gﬁu (4)

1 SR HIETE Sledle.Sl% [Seed B a8 ‘iﬁ*'ii', &
. N HEI <hl Tohq B9 H SITHT ST 2
HEATT R ohl Jal HE SAld & | ALl Tsh Y Y H S| Sy

(2): TN (2™ e
SRR | &) ‘




GOVTEXAMTAK.COM


Feq H L ST B 5,
%ﬁ,m . ¢ DS \‘,
7% T 3 TR 2 aeh g o feere e A € e fge 30 O H TG A
(1) =rfas Sem % w6 (2) Toem Wﬁ ¥ gt
(3) e Sy (Sraferan) (4) T L

144. R BT i SeAfIehT Wegrrel g HT b A D @I,

145. T R i fnem i 2020 3 el 3 - PO T T

1) ﬁwﬁﬂ%mﬁ'w%wﬁaﬁ?ﬁwmamla_,
(2) T g3 3 srwia e s STErE | .
(3) o gt % sy AT/ F ww w AL T

(4) T T 3 st et st 1 StErE | i

146. T HN W | T o e e R e (ZrEdesi)
u@am%ﬁm:g%W,mm@mmmmﬁaﬁmﬁmmi

31T S TEH! 1 IHEY weien 3 fere ot fer WA | e 120 Vel § W feran
1) fowi "eieh wew

() T
@) < e T B
(4) TR N TR FW Gren W (TERHke) i

t

o
Il

i

1

147. ﬂﬁ@ﬁfwﬁam@%aﬁﬁmﬁ?ﬁaﬁﬁw%uﬁw@%mﬁw%ma@m
ﬁvﬁﬁamm%lmmmﬁaﬁﬁﬁwwmmm@%?
(1) weRa fawm () W v
(3) ufshan senfia Raromemey (4) WIS SER

148. "W SRR (TRARITRT) Y ? €5t
(1) ﬁwﬁwwmaﬁnwﬁmﬁm%ﬁ?@%l
@) wﬁ%ﬁmﬁw%ﬁmq&mﬁgﬂwﬁmﬁw@;ﬁrﬂa%l
3) Wﬁmm%@wwﬂ%meW%l
(4) @wﬁ@@a@mwﬁﬁwzm%mﬁ

T H 3 reor e o §)

149. 1 S & AR F BE-T1 P e §0
(1) wem s e iR figdr sy 2
(2) WS/ 949 9191 i1 9 T s

(3) ST/ Sem W & W w5 fidg
(4) &S/ 9o I w1 9 fidy

T T Y STem-arem 3
%""W“’T“ﬁmﬂwm%n
T ST R 3 S
W%quﬁw’hﬁ%l
150. & STHICH Tt a1 fafvrey webre 3 e 3 SC - ol

(1; mwmwﬁym(CAu?Q Wiﬁm‘éwi‘ua%
(2 Ty
(3) WWW%(BICS) £
(4) FHTVER ) frgorey

p-11 |MlﬂIWIﬂilllﬂlllﬂlllll!ﬂllﬂmlll .


https://whatsapp.com/channel/0029Va5APpx6WaKt3PUCA80p




GOVTEXAMTAK.COM GOVTEXAMTAK.COM GOVTEXAMTAK.COM GOVTEXAMTAK.COM

GOVTEXAMTAK
Hd @TCHY Tel Wi

' R % Mlageay
¢ @' Govt Exam Tak WED

22 6K followers

T A, S,

m——— DSSSB TGT Recruitment 2024 Notification

!Tfr Recruitment Released For 5118 Posts - Govt Exam Tak

DSSSB TGT Recruitment 2024 Notification Released Fo.

DSSSB &isitér & 5118 ugt w weifyyg

htt~ vtexamtgk.com/dsssh-tgt-recruitment-2024/

= & 8 \rd 2024 dah, Tyt s g

3:31 pm

n« HW

—

m}md&% 1 2T e T 2024 (4

e 104 @1 ergH dad
https:ﬁ/govtexamtak‘com /rajasth an-board-class-10th

_time-table-2024/

_

e 124 a1 TTgH &
https:ﬁ/govtexamtak.comﬁra .
_time-table-2024/ 8:19 pm

(&) Write an update d O ° Q aﬂﬁ' @. ﬁg_?f % ﬁq m m ﬁ

jasthan—k:;oard-class—1 2th

All Education Update's 1st

Job | Exam Date | Syllabus | Admit Card | Answer Key | Result | Scheme

GOVTEXAMTAK.COM


https://whatsapp.com/channel/0029Va5APpx6WaKt3PUCA80p
https://whatsapp.com/channel/0029Va5APpx6WaKt3PUCA80p

